HYyh—1)—4 2022 EHER)—5 2%

BAE®H Uu—18 Yyh—U—45 2022 EHRU—S 28

BAEH U—18
gi] A

El B xt B 2 5 [ = &) A B |Ranm xt B 2 5 i
a - a@| 11:00 |+ 1 (Jvsg) 0t filrmxnnodizzsa s 27¢0)] 10:00 [ch #F ( vs ) &£ AL N
asam| 1330 [Bg - ERE4 (vsd) 0T % SlemxsmmomArzem sr27(t)| 12:30 |T % S (vs ) M- -EBRzsxsassdxns
swim| 4 20| 15:00 [ERIADOA O (8 Vs 2) 2B EI Xl 0 B 2 B #® =on] 8-27(1)] 15:00 |f§ £ I % (vs ) BEHAORA|E= x5 # 2 B8 % KB
s, 10000 [f & s 1 (Jvs) 0O 2 s|= 2 & #% g2zt 11:00 | 2 S ( vs ) @ B SlemirsgsERrnis
as2ef 12230 [B B S 6 (fvs)) 1/ %2 Sl 2« s 2 5 = srzzt)| 1330 | £ s ( vs ) Bl i Slemxsmpommrmzs
4 o) 15:00 |+ 3 (yvsi)2T % Slg a8 m s = osran)] 1500 [T £ s ( vs ) =% #[m @ & #
asom| 10000 [B - B3 (3vsJ)O0O@ 2 sSls o« m & # oran| 10000 [B & s (vs ) m@ - EHRE # & #
sl as o] 12:30 [@amiom 1 (Jvsd) 0 %2 slg o8 m & = swlosam] 1230 [ # s ( vs ) BWHAOAH|R 2 & #
aoom| 1330 [B = s 1 (Yvs]) 28 # SlemxsmsmEAzzam ora)| 1430 |l s ( vs ) b & sl=®m 5 5 & o ¥
acrom| 11:00 [EETE£0(5vsd) 2 flrmxmasmirzam o 3| 12:00 | # (vs ) BEIE:=rm 75 35 5 v ¢
a16(0)| 10:00 |+ E1 (qvs]) 1BE I FlmmAasusmAizzon oo 1230 |BETE ( vs ) =+ #ls a1 o 2 s =
acten] 12230 [ - AR ($vs?) 1) fF Slemxnpemizzea ootot)| 15:00 |BR # S ( vs ) B - EHEE » &8 2 3 =
sum| a-160)] 13:30 [FaADA 0 (Jvs]) 28 & s|m 2 = # suo| o100 13:00 | B S ( vs ) ®wEHILOR|B 2 = 1%
ane| 15:00 [ % s 2 (Jvs)) 2 flemxnromrizzenm o 10| 10:00 |ch #F (vs ) ®# % Slg 1 ®m % ® %
s 1100 [ 2 s1 (Yvs)) 1T £ sl & & # oro)] 11:00 | T % s (vs ) @ 2 s|= = & %
a230)| 13:30 |+ E1(Jvsi)2M 2 sSls # 8 B & = o] 15:00 | 2 s ( vs ) =+ klemxnusmEAiIzs®E
sac2an] 11:00 [l - B2 (3vs?) 1T EHADA[E a1 B B & & s21@)| ®%F |IBHAomlm ( vs ) B-EEBRE 8 =2 B 5 #&
sam| 4-23(0)] 10:00 |[f H& S 1 ((‘, Vs g) 0= Fila e x5 2 @ %% o] o.17(0)| 12:30 |ch ¥t ( vs ) B R SlamiAsgLsBEAIZBE
ac2a)] 1230 [B 8 S 1 (Yvs)) 1T % Slemxsnamsnss oot 1500 [T % s ((vs ) Bl i SlEsmxmpsmizzaam
aza)| 1500 |8 2 S 1 (Vvsl]) I B EI Zlemxnmamssiug oo 1230 [FEIT E ( vs ) # % Slemxmsamizzam
s-11(1)| 10:00 [£ 1 (Jvs)) 4 % Sl o m % & # o 19| 15:00 |/ 2Z s ( vs ) = ElrmxmusmAirs am|
e 1| 12:30 | - E B3 (fvs)y) 0 dh Fls # 8 2 & #& o 19| 12:30 | H ( vs ) B - BEzaxagsBEATIEAET
sesw| 6110 15:00 |[EHHIADORW O (Jvs V) 1T % Sls a# m 2 & = =un| o 238) XE |T % S (vs ) BHRAOAlE @ = 2 & #
6] 13:30 |f & S 1 (gvsg) OBEIE® 68 ¥ 5 » > F os9m| 1230 B E T % ( vs ) ®H B SlEmAfigsBAIZBE
e~1()] 11:00 |[B 8 S 0 (gvsy) 1TH 2 Sla & 54 5 » > F ort9A)| 15:00 | 2 S ( vs ) Bl i SlamxsmgsEAIZBE
e-26(t)| 12:30 |£ % ( vs ) B $# S|lg s 5 5 » > ¥ 11120 15:00 |[BB 8 S ( vs ) == &= = = %
es25(t) 10:00 |[Bg - EEE ( vs ) BEIZElz 8 v 5 » > F oz 1230 (BEITE O( vs ) B - B B!ﬂm = -1 %
sem| 6-26(x)] 15:00 |FHIIL DA (vs ) B 2 Sl & 4 5 % > K sowf1112(0)] 10:00 | 2 S (vs ) wE@mhon|= 2 -1 %
e-25(t)| 11:00 [f H S ( vs ) B % Slzp a« 8 2 B8 & 112 11:00 |/ £ S (vs ) B B S|z ©# 8 £ & #®
es25(t)| 13:30 [T % S ( vs ) =& flzg 2 & 2 5 = 11-12¢0)| 13:30 |d A (vs ) I % SlIzp a# v 2 58 »
a20@)| 12:30 |£ E2(3vs)) 1 &R Sl& a1 m & = 1orea0] 12:30 B ;08 ( vs ) =+ s 0 & %2 & #&
as20t8)| 10:00 |[Bg - E B 5 (5 vs (‘,) 1/ % Sl a#a m & # 1190 10000 |/ %S (vs ) M -BEEs = & 2 & #
#m| 77 o)) 1330 [SHMADA ( vs ) B i Slpwass ey - menl11.109¢0] 15:00 |B f S (vs ) BEHAORlE # ® % & #®
7700 1100 | 2 s ( vs ) +th e wso5 4 - 11-1900| 14:30 |eh #H (vs ) B 2 slz5 45 5 % v ¢
a0 1500 [[EETE£6(3vs3) 0T £ sz a# & & = 1171960 12:00 | T £ S (vs ) BEI¥%=m 75 5 % > ¥
77160 15:00 |£ # ( vs ) EHAoRlE # ® 2 = % 120 13:30 [§8holm ( vs ) X Elze # m 2 B =&
7716 12:30 |Fg - EBE O ( vs ) B R S|z o wm @w x B #® 112300 15:00 |[f & S (vs ) M- EHEPm 2 = #%
som| 716()| 13:30 |BH f S ( vs ) ® = 2 = % wm|11.,23(%0] 12:30 |rhR # ( vs ) B # s= 2 = #%
727160 10000 |/ % S (vs ) T % sSlg a8 @ 2 &5 % 11230 11:00 | T % S (vs ) B % Sl an m 2 & #
7160 1100 | 2 s ( vs ) B £ I %= # & # 12z 10000 | E T % ( vs ) B 2B slm = & #
7188 10:00 |+ % (vs ) B -EBB: 2« 2 B 5 % 1230 x% | - BB ( vs ) =% Elz &« 2 B & %
7180 12:30 |[EahdOmN ( vs ) & Ffls # @ B 5 # 1126()| 12:00 |dp #H ( vs ) BHEALORN|E 5 7 5 » » ¥
mow| 7718 15:00 | & S (vs ) IT % Slz # @8 B 58 & weml11,26(1)] 10:00 |T % S (vs ) B 3 Sl # = £ & &
7188 12:00 [BA & S (vs ) BEIE=®m v 5 % v ¢ 1Mo2en)| 1430 I E T % ( vs ) B fi sl=z=® v 5 » » &
18| 14:30 |l % S (vs ) M 22 sl=®8 v 5 % > ¥ 11260 12:30 | 2 S (vs ) B %2 sls # = 2 & #




BAEH U—18 Hvyh—I—5 2022 gHRU—T 28

F— Lk

x

2 (p - B B

3 | EAhADR

©) ®

(F)

13

-
@

®

12

-

)

km - B BEgaioRd R s £ S@E % SHE

()

@

-

(D)

a

c

D)

(D)

2 STEEIXEI %X sH

10

o _—
@

| B BR |fR|SR|BERE] AR
10 9 (10| -1 3
D 6 18 | 21| 3 18 1
©)]
1 3 2 |7 -5 10
4 12 7| 4 3 2
2 7 10| 8 2 5
1 5 9 (16| -7 7
2 7 416 -2 6
2 8 10| 5 5 4
1 5 5 (15| -10 8
1 4 4 | 7 -3 9




